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1. Geometry (Regular Polygon)

1. If each internal angle of a regular polygon is

1620  then find no. of sides.

1620

(A) 18 (B) 15

(C) 25 (D) 20

2. If number of sides of a regular polygon is 36.

Find the ratio of internal and external angle

of that polygon.

(A) 1 : 17 (B) 2 : 17

(C) 17 : 1 (D) 3 : 17

3. If internal angle of a regular polygon is 1440

then find the number of diagonals.

1440

(A) 30 (B) 35

(C) 45 (D) None of these

4. Each internal angle of a regular polygon is

four times of its external angle find the

number of diagonals.

(A) 30 (B) 40

(C) 35 (D) None of these

5. Two times of internal angle of a regular

polygon is equal to seven times of its external

angle. Find the no. of diagonals.

(A) 27 (B) 24

(C) 35 (D) None of these
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6. If sum of all internal angles of a regular

polygon is 1440º find no. of diagonals.

1440º

(A) 30 (B) 35

(C) 45 (D) None of these

7. If each internal angle of a regular polygon is

180 more than 8 times of its external angle

then find the no. of sides.

180

(A) 30 (B) 40

(C) 20 (D) None of these

8. ABCDE is a pentagon in which AB||ED

and B = 1400  then find C and D if

C: D= 5:6.

ABCDE AB||ED 140º

C D C :D = 5 : 6?

(A) 1000 and 1200 (B) 900 and 1080

(C) 800 and 960 (D) None of these

9. ABCDEF is a Hexagon in which AB||EF and

B : C : D :E = 6 : 4 : 2 : 3 then find the

largest and smallest angle among them.

ABCDEF  AB||EF 

B : C : D :E = 6 : 4 : 2 : 3 

(A) 2100 and 800 (B) 2160 and 720

(C) 2100 and 720 (D) None of these

10. Each interior angle of a regular polygon is

160º. Find the internal angle of another

regular polygon whose no. of sides is 2/3rd the

number of  sides of given polygon.

160º

2/3

(A) 135º (B) 140º

(C) 120º (D) 150º
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11. If the number of  sides of two regular

polygon are in the ratio 2:1 and ratio of

their internal angles is 4:3 find the number

of sides of each polygon.

2 : 1

4 : 3

(A) 8 and 16 (B) 9 and 18

(C) 5 and 10 (D) 10 and 20

12. If the number of sides of two regular polygon

are in the ratio 4:5 and ratio of  their

internal angles is 15:16 find the number of

sides of each polygon.

4:5

15:16

(A) 8 and 10 (B) 12 and 15

(C) 20 and 25 (D) 24 and 30

13. The no. of sides of two regular polygon are in

the ratio 3:4 and the ratio of sum of their

internal angles is 2:3 then find no. of sides

of these polygon.

(A) 9 and 12 (B) 12 and 16

(C) 6 and 8 (D) 15 and 20

14. There are 5 right angles in a polygon and

remaining angles  are 1950 each then find

number of sides.

(A) 12 (B) 16

(C) 18 (D) None of these

15. There are 6 right angles in a polygon and all

remaining angles are 200º each find the

number of sides of that polygon.

6

200º

(A) 11 (B) 12

(C) 15 (D) None of these

2. Geometry (Triangles)

     On the basis of sides and angles of triangle

16. ABC is a triangle in which A – B = 15º ,

B– C = 30º then find the value of A, B

and C.

 ABC  A – B = 15º, B – C = 30º 

A, B C

(A) 80, 60, 40 (B) 70, 50, 60

(C) 80, 65, 35 (D) 80, 55, 45

17. ABC is a triangle in which 
1

2
C 

  Find the value of B.

ABC 
1

2
C  

(A) 50º (B) 80º

(C) 90º (D) 100º

18. ABC is a triangle in which 
1

2


1

2
C =

120º  then find the value of B.

ABC 
1

2


1

2
C = 120º B

(A) 40º (B) 50º

(C) 55º (D) 60º

19. ABC is a triangle in which  12A15B

20C then find the difference between A

and C.

ABC 12A15B20C A

C 

(A) 30º (B) 40º

(C) 55º (D) 60º

20. ABC is an equilateral triangle in which side

BC is produced upto point D such that BC=CD

then find the value of ADC.

ABC BC D

BC=CD ADC

(A) 15º (B) 20º

(C) 25º (D) 30º



Maths by Bhagwati Prasad Sir 3 Geometry | T;kfefr

21. ABC is a triangle in which B =C = 40º and

side BA is produced upto point D such that

BA=AD then find BCD

ABC B =C = 400 BA D 

BA = AD BCD

(A) 50º (B) 80º

(C) 90º (D) 100º

22. ABC is a triangle in which AB = AC if D is a

point on side AC such that AD = DB = BC then

find the value of A

ABC AB = AC AC D 

AD = DB = BC A

(A) 36º (B) 40º

(C) 45º (D) 45º

23. ABC is a triangle in which D is a point on

side BC such that BD=AD=AC and side BA is

produced upto E such that CAE=780  then

find the value of C

ABC BC  D

BD = AD = AC BA E 

CAE = 78º C

(A) 50º (B) 52º

(C) 55º (D) 60º

24. ABC is a triangle in which AB = AC and D is

a poind on side BC such that BAD = 30º and

a point E is on side AC such that AE = AD

then find the value of CDE.

ABC  AB = AC BC D 

BAD = 30º AC E 

AE = AD CDE 

(A) 10º (B) 13º

(C) 14º (D) 15º

25. ABC is a triangle in which B = 63º , the

internal angle bisector of C intersect AB at

D and M is a point on CD such that AM=AD

then find the value of MAC.

ABC B = 63º C 

AB D CD M 

AM = AD MAC

(A) 50º (B) 55º

(C) 60º (D) 63º

26. ABC is a triangle in which points D and E are

on sides AC and AB such that AD = DE = EC =

CB then find A :B.

ABC AC AB D E

AD = DE = EC = CB A:B 

(A) 1 : 4 (B) 1 : 5

(C) 1 : 3 (D) 1 : 2

27. ABC is a triangle in which the bisector of B

and C intersect at O. If BOC= 125º then

find the value of A.

ABC B C

O BOC= 125º A

(A) 70º (B) 80º

(C) 90º (D) 100º

28. ABC is a triangle in which the external angle

bisector of B and C intersect at O. If BOC =

35º then find the value of A.

ABC B C

O BOC = 35º A 

(A) 50º (B) 80º

(C) 90º (D) 110º

3. Centroid / dsUnzd

29. ABC is a triangle in which median BE and CF

intersect at O then find the ratio of

ABC BE  CF O

(a) Area of OEF: Area of OBC

(i) 1 : 1 (ii) 2 : 1

(iii) 1 : 4 (iv) 1 : 2

(b) Area of AFE : Area of OEF

(i) 2 : 4 (ii) 3 : 1

(iii) 1 : 4 (iv) 1 : 2

(c) Area of OFE : Area of ABC

(i)  1 : 10 (ii) 2 : 12

(iii) 1 : 11 (iv) 1 : 12

(d) Area of COE : Area of ABC

(i) 1 : 4 (ii) 1 : 5

(iii) 1 : 6 (iv) 1 : 2

(e) Area of FOE : Area of ABC

(i) 1 : 3 (ii) 1 : 2

(iii) 1 : 4 (iv) 1 : 1
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30. ABC is a triangle in which AD is the median

and E is the midpoint of AD then find the ratio

of area of ABE to area of ABC

ABC AD E, AD

ABE ABC 

(A) 1 : 4 (B) 1 : 5

(C) 1 : 3 (D) 1 : 2

31. ABC is a triangle in which D and E are the

midpoints of AB and AC. Side BC is produced

to point P. Then find the area of DEP : area

of ABC.

ABC D E, AB AC 

BC P DEP ABC

(A) 2 : 1 (B) 1 : 4

(C) 1 : 3 (D) 1 : 2

32. ABC is a triangle in which G is the centroid of

that triangle if AG= BC find BGC.

ABC G AG= BC 

BGC 

(A) 50º (B) 80º

(C) 85º (D) 90º

33. ABC is a triangle in which length of medians

are 9 cm, 12cm, 15 cm find the area of ABC

ABC  

 ABC 

(A) 70 cm2 (B) 71 cm2

(C) 72 cm2 (D) 73 cm2

34. Two medians AD and BE of ABC intersect

at G at right angle. If AD = 9 cm and BE = 6

cm then find the length of BD.

ABC AD BE G

AD = 9 BE = 6

 BD 

(A) 2 cm (B) 3 cm

(C) 4 cm (D) 5 cm

35. ABC is a triangle in which AB = 8cm, AC = 14

cm and BC = 18 cm then find the length of

median AD.

ABC AB = 8 , AC = 14 

BC = 18  AD 

(A) 5 cm (B) 7 cm

(C) 9 cm (D) 10 cm

36. Two sides of a triangle are 16cm and 18cm

and median of 3rd  side is 11 cm then find the

length of third side?

(A) 19 cm (B) 25 cm

(C)  26 cm (D) 30 cm

37. ABC is a triangle in which median BE and CF

intersect at right angle, if AB =19 cm, AC = 22

cm, then find BC.

ABC BE CF

AB=19  AC=22 BC

(A) 13 cm (B) 25 cm

(C)  26 cm (D) 30 cm

4. Incenter / var% dsUnz

38. ABC is a triangle whose perimeter is 48 cm

and inradius of triangle is 4 cm then find the

area of ABC.

ABC 

ABC

(A) 96 cm2 (B) 97 cm2

(C) 98 cm2 (D) 99 cm2

39. ABC is a triangle in which I is the incenter of

that triangle. If BIC = 1160 then find the

value of A.

ABC I BIC = 116º
 A 

(A) 36º (B) 40º

(C) 45º (D) 52º

40. ABC is a triangle in which O is the incentre of

the triangle. If BOC = 135º then find the

type of triangle.

ABC O BOC = 135º

(A) 50º (B) 70º

(C) 90º (D) 95º

41. ABC is a triangle in which AB = 12 cm, BC =

16 cm, AC = 20 cm, then find the area of

incircle of triangle.

ABC AB = 12 , BC = 16 , AC = 20

(A) 132 (B) 142

(C) 152 (D) 162
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42. Let O be the incenter of ABC and D be the

point on side BC  of ABC such that OD BC .

If BOD = 15º then find ABC.

O ABC BC D

OD BC  BOD = 15º 

ABC 

(A) 100º (B) 125º

(C)  150º (D) 155º

43. In ABC the angle bisector of A, B and C

intersect circumcircle of ABC at point P, Q,

R if CRQ = 46º, A = 50º then find BQR.

ABC A, B  C

ABC P, Q, R 

CRQ = 46º, A = 50º BQR 

(A) 15º (B) 19º

(C) 25º (D) 30º

44. ABC is a triangle in which AB = 13 cm, AC = 14

cm, BC = 15 cm. Angle bisector of A, B and

C  intersect at O. Find the ratio of AO : OD.

ABC AB = 13 cm, AC = 14 cm, BC = 15

cm O AO : OD 

AD, BE  CF, A, B 

C 

(A) 9 : 5 (B) 5 : 5

(C) 9 : 4 (D) 4 : 7

45. ABC is a triangle in which angle bisector of

A,  B and C intersect at O. If

AO 3 BO 2
, 

OD 1 OE 1
   then find the value of 

CO

OF
.

ABC A,  B  C 

O 
AO 3 BO 2

, 
OD 1 OE 1

   
CO

OF
 

(A) 9 : 5 (B) 5 : 5

(C) 7 : 9 (D) 7 : 5

5. Circumcentre / ifjdsUnz

46. ABC is a triangle in which AB = 12 cm,

BC = 16 cm, AC = 20 cm, then find the area

of circumcircle of that circle.

ABC AB = 12 , BC = 16 ,

AC = 20 

(A) 90 cm2 (B) 95 cm2

(C) 100 cm2 (D) 105 cm2

47. ABC is a triangle in which AB = 6 cm, BC = 8

cm and AC = 10 cm, then find the difference

between area of circumcircle and incircle of

that triangle.

ABC AB = 6 , BC = 8 , AC = 10

ABC 

(A) 20 cm2 (B) 21 cm2

(C) 22 cm2 (D) 23 cm2

48. ABC is a triangle in which AB= 15cm,

BC=12cm, AC=13cm and O is the centroid of

that triangle then find the value of BO.

ABC  AB = 15 BC = 12 

AC = 13  O BO

(A)
5

5
3

 cm (B)
2

4
3

 cm

(C)
2

5
6

 cm (D)
1

4
3

 cm

49. ABC is a triangle in which A = 85º  and

C = 75º and O is the circumcenter of that

triangle then find the value of OAC.

ABC A = 85º  C = 75º O

OAC 

(A) 50º (B) 60º

(C) 70º (D) 80º

50. ABC is a right triangle in which B = 90º.

AB < BC and BD is perpendicular to AC such

that BD = 
1

4
 AC, then find the value of AD.

ABC B = 90º AB < BC BD,

AC BD = 
1

4
 AC AD

(A)    2 5 : 2 2  (B)    3 3 : 2 3 

(C)    2 3 : 6 3  (D)    2 3 : 2 3 

6. Orthocenter / yEcdsUnz

51. ABC is a triangle in which O is the

orthocenter. If B = 50º then find the value of

BAO.

ABC O B = 50º

BAO

(A) 40º (B) 50º

(C) 60º (D) 90º
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52. ABC is a triangle in which = 50º and O is

the orthocentre of that triangle, If = 50º

then find the value of BOC.

ABC = 50º O

= 50º BOC 

(A) 100º (B) 125º

(C) 130º (D) 150º

53. O and C are the orthocentre and

circumcentre  of PQR and PO intersects QR

at S. If Q = 60º and QCR =130º then find the

value of RPS.

O C PQR

PQ QR S Q = 60º

QCR = 130º RPS 

(A) 15º (B) 19º

(C) 25º (D) 35º

54. ABC is a triangle in which altitude AD, BE &

CF intersect at O then find the value of.

ABC AD, BE CF O

(a) cos BOC+ cos A

(i) – 1 (ii) 1

(iii) 0 (iv) 2

(b) tan EOF+ tan A+ tan AOB+tanC

(i) – 1 (ii) 1

(iii) 0 (iv) 2

7. Equilateral Triangle / leHkqt f=dks.k

55. ABC is an equilateral triangle whose area is

64 3  cm2 then find the ratio of area of

circumcircle to incircle of that triangle.

ABC 64 3

2 ABC 

(A) 1 : 3 (B) 1 : 5

(C) 4 : 1 (D) 1 : 2

56. ABC is an equilateral triangle whose side is

12 cm then find the area of incircle of that

triangle.

ABC

(A) 12 cm2 (B) 15 cm2

(C) 25 cm2 (D) 20 cm2

57. ABC is an equilateral triangle in which

length of median is 20 cm then find the

circumradius of that triangle.

ABC 

cm 

(A)
35

5
(B) 

40

3

(C)
39

3
(D)

45

3
58. ABC is an equilateral triangle whose

inradius is 12cm then find the length of the

median of that triangle.

ABC 

(A) 32 cm (B) 34 cm

(C) 35 cm (D) 36 cm

8. Similarity of Triangles / f=Hkqtksa dh le:irk,¡

59. ABC is a triangle in which B = 54º point D

and E are on side AB and AC such that

DEC=126º. If  AD = 4 cm, AB = 12 cm and

AE = 5 cm then find the value of EC.

ABC B = 54º AB AC

D E DEC = 126º 

AD = 4 , AB = 12   AE = 5 

EC

(A) 4.6 (B) 7.6

(C) 4.8 (D) 4.4

60. A and N = 90º, AB = 5 cm , AC = 12 cm,

BN = 5 cm then find the value of MN.

(A)
8

MN
3

 (B) 
7

MN
3



(C)  
10

MN
3

 (D)
15

MN
3


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61. ABC is a triangle in which AB = 32 cm, AC = 48

cm and BC = 42 cm. The internal angle

bisector of A intersect BC at D then find the

value of CD.

ABC AB = 32  AC = 48 BC

= 42  A BC D 

CD 

(A) 23.2 cm (B) 25.3 cm

(C) 27.5 cm (D) 28.8 cm

62. ABC is a triangle in which AB = 4.8 cm, AC = 7.2

cm and BC = 9.5 cm, the internal angle

bisector of A intersect BC at D. Then find

the value of BD.

ABC AB = 4.8  AC = 7.2 

BC = 9.5  A BC D

BD

(A) 2.8 cm (B) 5.7 cm

(C) 3.8 cm (D) 9.8 cm

63. ABC is a triangle in which AC = 10 cm, AB = 8

cm, BC = 6 cm, the external angle bisector of

A intersect CB at D, then find the value of

CD.

ABC AC = 10 , AB = 8 , BC = 6 

A CB D

CD

(A) 15 cm (B) 20 cm

(C) 25 cm (D) 30 cm

64. In ABC, the internal angle bisector of A

and external angle bisector of A intersect

BC at D and E respectively. If BC = 7 cm,

AC = 4 cm, AB = 6 cm then find the value of

DE.

ABC A A

BC D E BC = 7 ,

AC = 4 , AB = 6 DE

(A) 16.8 (B) 18.5

(C) 20.2 (D) 25.3

65. ABC is a triangle in which the angle bisector

of A intersects BC at D such that BD : DC =

2:3 if AB = 10 cm then find the value of AC :

BC.

ABC A BC D

BD : DC = 2 : 3

AB = 10 AC : BC 

(A) 1 : 2

(B) 3 : 3

(C) Can't be determined

(D) None of these

66. ABCD is a trapezium in which AD||BC.
Diagonal AC and BD intersect at O, if AO = 3
cm, CO = (x + 3) cm, BO = (3x – 19) cm, DO = (x
– 5) cm. Find the value of x.

ABCD AD||BC

AC BD O AO

= 3 , CO = (x + 3) , BO = (3x – 19) ,

DO = (x – 5) . x

(A) 8, 8 (B) 8, 9

(C) 9, 8 (D) 7, 9

67. ABCD is a trapezium in which AB||CD
and AB = 3 CD. Diagonal AC & BD intersect
at O then find the ratio of area of AOB to
the area of COD.

ABCD AB||CD

AB = 3 CD AC BD O

AOB COD

(A) 7 : 2 (B) 8 : 1

(C) 6 : 5 (D) 9 : 1

68. ABC is a triangle in which a line DE is drawn
parallel to BC such that AD:DB is 3:5 then
find the ratio of area of BDEC to area of
ABC.

ABC BC DE 

AD : DB = 3 : 5 BDEC 

ABC 

(A) 45 : 8 (B) 49 : 9

(C) 55 : 9 (D) 52 : 5

69. In ABC a line DE is drawn parallel to base
BC such that AD:BD=3:5. If area of ABC =
192 cm2 then find the area of DEB.

ABC BC DE

AD : BD = 3 : 5 ABC

192 2 DEB

(A) 27 (B) 28

(C) 29 (D) 32

70. ABC is a triangle in which point D and E are
on sides BC such that BD : DE : EC = 3 : 4 :
5, if area of ADE = 16 cm2, then find the
area of ABC.

ABC BC D E 

BD : DE : EC = 3 : 4 : 5 ADE

16 2 ABC

(A) 39 cm2 (B) 48 cm2

(C) 40 cm2 (D) 38 cm2
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71. ABC is a triangle in which a line DE is

drawn parallel to base BC such that it

divides ABC in two parts of equal area.

Find the value of 
AD

AB
 and 

BD

AB
.

ABC BC DE

AD

AB
 

BD

AB
 

(A)
2 1

3


(B)

3 2

2



(C)
2 3

3


(D)

2 1

2



72. ABC is a triangle in which base BC = 30 cm.

Two lines are drawn parallel to base BC such

that they divide ABC into three parts of equal

area. Find the length of the line nearest to the

base.

ABC BC = 30 BC

(A) 9 6  cm (B) 11 6  cm

(C) 10 6  cm (D) 12 6  cm


